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BawHa «Boctok»

M Kareropus: 1
B Kareropus 2
B Karteropus 3

JOCTYIIHBI K TTOKYTIKE arlapTaMeHThI 3-X KaTeropuu ¢ 9 1mo 35 sTaxu

5 9 1 13 17 21
48.46 m? 34.88 m? 49.64 m? 34.88 m? 34.88 m? 34.88 m?
1 3 7 15
19 23 24
2 2 2 2
85.33 m 48.46 m 34.87 m . 34.87 m 3487 m? 3487 m? 4215 m?
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33.29 m? 39.69 m?
4 6 8 18 22
2 2 2 2 2
2 4594 m 4594 m 34.86 m 10 14 39.69 m 20 69.12 m
33.28 m? 34.93 m? 33.33 m?
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Eal.u HA «3al'lap,» JOCTYIIHBI K TTOKYTIKE arlapTaMeHThI 3-X KaTeropui C 5 1o 35 3TaXXu

M Kareropus: 1

B Kareropus 2 5
B Karteropus 3 49.63 m?
1 3 7 9
95.38 m? 54.32 m? 34.74 m? 70.16 m?
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2 4 6 8 10 1
94.39 m? 40.74 m? 40.89 m? 34.87 m? 34.87 m? 50.88 m?





